Antriebstechnik

CPH_AB RANWNESHBEITE BRI
SERIES HIGH PRECISION PLANETARY GEARBOX

g ERe (AN BRAE
EISELE ASIA CO.,LTD



c P H 'AB ?gglEs

CPH-AB#%I8/Si%Af / CPH-AB SERIES MODEL ILLUMINATE

CPH-AB-090 -

010 - S1 - P1 / B4l MOTOR

I T

No i Bf Comments
1 CPH-AB: BiERRIIRS CPH-AB: code for gear units series
2 #45: 042, 060. 090. 115. 142. 180. 220 Size : 042, 060. 090. 115. 142, 180. 220
FRIELL . Ratio:
3 |B%: 3. 4.5.7.10 1 Stage: 3. 4. 5. 7. 10
Meh: 15, 20. 25. 35, 40. 50. 70. 100 2 Stage: 15. 20. 25, 35. 40. 50. 70. 100
gy R E Shaft Option:
4 | 1) S1: 3t 1) 81:Smooth Output Shaft
2) S2: 7 R4 2) S2:Output Shaft With Key
A Backlash:
5 1) Pl g h 1) P1:Reduced Backlash
2) P2:#rfEERR 2) P2:Standard Backlash
HHES: Moto Designation:
6 |wmnsEEERe Manufacturer Type And Model

=5 Example: CPH-AB090-010-S1-P1/SIEMENS 1FT6 041-4AF71

www.eisele—gear.com

01



Antriebstechnik

BREY
GEARBOX PERFORMANCE

CPH-ABRRHIZAR S % / CPH-AB GEARBOX PERFORMANCE

Il & Model No. Gitstage | MitiRatio | AB042 | ABOGO | ABOSO | AB115 | AB142 | AB10 | AB220
3 20 55 130 208 342 588 1140
4 19 50 140 290 5942 1050 | 1700
1 5 22 60 160 330 650 1200 | 2000
7 19 55 140 300 550 1100 | 1800
10 14 40 100 230 450 900 1500
15 20 b5 130 208 342 588 1140
20 19 50 140 290 542 | 1050 | 1700
25 22 60 160 330 650 | 1200 | 2000
FEMEHLE T, [
Nominal Output Torque 2 35 19 50 140 | 300 550 1100 1800
Ton Nm 40 17 45 120 260 500 1000 | 1600
50 22 60 160 330 650 | 1200 | 2000
70 19 50 140 300 550 | 1100 | 1800
100 14 40 100 230 450 900 1500
?F” HIFE T@gf’ N .
Emgrgency Stop Torgue Nm 1/2 | 3~100 ETEMLAE 3 times of Nominal Output Torque
_lanor ’ S e
RN R mm | 1/2 | 3~100 | 5000 | 5000 | 4000 | 4000 | 3000 | 3000 | 2000
ﬁgﬁnﬁilﬁszbggd Ng rpm 1/2 3~100 | 10000 | 10000 | 8000 | 8000 | 6000 | 6000 | 4000
i 1 3~10 <3 <3 <3 <3 <3 <3 <3
EEEEP1 :
Reduced Backlash P1 Al
2 15~100 <5 <5 <5 <5 <5 <5 <5
1 3~10 <5 <5 <5 <5 <5 <5 <5
FRETBR P2 arcmin
Standard Backlash P2 2 15~100 <7 <7 <7 <7 <7 <7 <7
%ﬁﬁ;{ﬁ| Rigidity Nm/arcmin| 1 /2 3~100 3 7 14 25 50 145 225
RIFRE 2
Mex; Radial Load F .S N 1/2 | 3~100 | 780 | 1530 | 3250 | 6700 | 9400 |14500 50000
g T | N Ll || B | el Rt [
ﬁ';izgizajlj IE;::! Foul N 172 3~100 390 765 1625 | 3350 | 4700 | 7250 | 25000
1 3~10 0.6 1.3 3.7 7.8 14.5 29 48
EE Weight kg
2 15~100 0.8 1.5 4.1 9 17.5 33 60
B {8 (n=3000rpm, =10, 5248 ° 5
Noise (1,=3000rpm, =10, No load) ® dB(A) [ 1/2 | 3~100 | <56 | <58 | <60 | <63 | <65 | <67 | <70
www.eisele—gear.com 02




BREY

A GEARBOX PERFORMANCE

SERIES

CPH-AB

CPH-ABRIEMZ A S % / CPH-AB GEARBOX PERFORMANCE

#4& Model No. B¥iStage | WiELtRatio | AB042 |ABOGO | ABOSO |AB115 | AB142 | AB180 | AB220
E
PHEN e | 12 | 3~100 20000
W& N 1 3~10 297%
Efficiency n %
2 16~100 294%
{ERRE 4 " E——
Operating Temp C 1,2 3~100 -10°C~90°C
ﬁﬁic&ﬁon ARLilEE#REE Synthetic lubrication oils
PP
Degree of Gearbox Protection L 3~100 IP65
ﬁogﬁnﬁtinﬁg Position 1.2 3~100 £EAE All directions
3 | 003|016 |061 | 325|921 2898 69.61
4 | 003|014 | 048 | 2.74 | 7.54 |23.67 |54.37
1 5 0.03 | 0.13 | 0.47 | 2.71 | 7.42 |23.29 | 53.27
7 0.03 | 0.13 | 0.45 262 | 7.14 | 22.48 | 50.97
10 | 0.03 | 0.13 | 0.44 | 2,57 | 7.03 | 22.51 | 50.56
15 0.03 0.03 0.13 | 0.47 2.71 7.42 | 23.29
iR J, —
g-cm 20
Mass Moments of Inertia J 0.03 0.03 0.13 0.47 271 7.42 | 23.29
25 0.03 0.03 0.13 0.47 2.7 742 | 23.29
" 35 0.03 | 003 | 0.13 | 047 | 271 | 7.42 |23.29
40 0.03 | 0.03 0.13 0.47 2.7 7.42 | 23.29
50 0.03 0.03 0.13 ‘ 0.44 2.57 7.03 | 2251
70 0.03 0.03 0.13 ‘ 0.44 2.57 7.03 | 22.51
100 0.03 0.03 0.13 ! 0.44 257 7.03 | 2251
A, REEE (=N, { Now)
B. B NIEHEE T = 60% of Tonor
C. 4352100 rpmBy, {EATREHPLAE.
D. REEsMEREIERIETEmAER
E. s, (EAF 4710000 hrs GEEQEATD
A. Ratio (i=Ni, / Noyt)
B. Max. acceleration torque T5 = 60% of Tyyor
C. Applied to the output shaft center at 100 rpm
D. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at 3000 rpm without load.
By ratio smaller than 10, the noise value would be 3-5dB higher
E. For continuous operation,the service life time is less than 10000 hrs
www.eisele—gear.com

03




Eisele

Antriebstechnik

CPH-AB4MER~FEZ / CPH-AB OUTLINE DIMENSION SHEET
IR EkRati

oLt

SR
DIMENSIONS

i=3~10

8

ac?

5O
3 3
= =
co
c4 s ||
@B he
=
D5
@03 hé L7
Rt CPII AB 042 L1 | CPH-AB 060 L1 | CPIl AB 090 L1 | CPII AB 115 L1 | CPH AB 142 L1 | CPII AB 180 L1 | CPII- AB 220 L1
D1 30 70 100 130 165 215 250
D2 3.4 5. b 9 11 13 17
D3 hé 13 16 22 32 40 55 75
D4 h7 a5 50 80 110 130 160 180
D5 M4x0. 7P M5x0. 8P M8x1. 25P M12x1. 76P M16x2P M20x2. 5P M20x2. 5P
L1 42 60 90 115 142 180 220
L2 26 av 48 i) 97 105 138
L3 b, & 7 10 12 15 20 30
L4 4 6 8 10 12 15 20
L5 14 22 28 40 65 70 90
L6 2.5 3 4 5 5 6 1
LT 10 15 19 28 26 42 42
cr 46 70 20 145 200 200
(52 M4 10/12 tief | M4 10/12 tief | M5 12/14 tief | M8 22/20 tief |M12 20/23 tief [M12 27/30 tief
C3* F7 - 8 . 14 19 ] 22 - 35 i 42 - 55
c4* 26 4 42 64 81.5 83 120
C5* GT 30 50 70 110 114.3 114. 3 200
ce” 5 5 6.5 10 8 7 7
c7* 42 60 90 130 180 180 220
c§? 86. 5 115.5 147 199 262 287 364. 5
Bl HS 5 5 6 10 12 16 20
H1 15 18 24.5 33 43 59 79. 5

a. Cl~—~C8Jg % HI Al LA 1 RUSE, FAR R 2 T B A2 )

a. C1~—~C8 are commonly used metric motor interface dimensions, please contact our company for other special models

www.eisele—gear.com

04



Eisele

Antriebstechnik

SR

DIMENSIONS

CPH-AB4MER~FEZ / CPH-AB OUTLINE DIMENSION SHEET
R EERati

oLt

i=15~100

@05 67

c8 acy
L2
L3
£ N
. |
! ]
h J a—m ~
o i =
&) | | =z
L= i 8
o |
BN ]
NE i
cé
c4 L4
$B1 H
! L5 L&

;Q\
7

Hi

|

)

@05

@03 hé

L7

CPH-ABRFIR~F —& @iEEL Ratio i=15-100

R+ CPH-AB-042-L2 | CPH-AB-060-L2 | CPH-AB-090-L2 | CPH-AB-115-12 | CPH-AB-142-L2 | CPH-AB-180-L2 | CPH-AB-220-L2
D1 a0 70 100 130 165 215 2a0
D2 3.4 a.b 7 9 11 13 17

D3 hé 13 16 22 32 40 55 75
D4 h7 35 50 80 110 130 160 180
D3 M4x0. 7P M5x0. 8P M8x1. 25P Mi2x1. 75P M16x2P M20x2. 5P M20x2. 5P
L1 42 60 90 115 142 180 220
E2 26 37 48 65 97 105 138
L3 3.5 7 10 12 15 20 30

L4 4 6 8 10 12 15 20

LS 16 22 28 40 65 70 90

L6 2 3 4 5 5 § 7

LY 10 15 19 28 36 42 42
c1® 46 70 a0 145 200 200 200
2 M4 10/12 tief | M4 10412 tief | M5 12/14 tief | M8 22/25 tief M12 20/23 tief |M12 27/30 tief |M12 27/30 tief
C3* B7 3 14 19 22 | 35 l 42 35
c4* 26 34 42 64 81. 5 83 85
C5* G7 30 50 70 110 114.3 114.3 114.3
ce? 3 5 6.5 10 8 ki 7

(b7 42 60 a0 130 180 180 180
cs* 110 144.5 177.5 233.5 287.8 337 415

Bl 119 ] o i 10 12 16 20

H1 15 18 24.5 35 43 59 79.5

a. Cl~—CRAT A A LR DURA, At R S AT R AR 2 vl

a. Cl—~C8 are conmonly used metric motor interface dimensions, please contact our company for other special models.

www.eisele—gear.com

05



Antriebstechnik

WCPH_AB RIS BEEITE RZEN
SERIES HIGH PRECISION PLANETARY GEARBOX

g ERR (AN BRAE
EISELE ASIA CO.,LTD



Wc P H 'AB §E§£|Es

WCPH-ABHR%I&Si}ifl / WCPH-AB SERIES MODEL ILLUMINATE

WCPH-AB-090 -

010 - S1 - P1 / E#l MOTOR

T T R

No iR BA Comments
1 WCPH-AB: #iE#ZRFIRS WCPH-ARB: code for gear units series
2 #i%: 042. 060. 090. 115. 142. 180. 220 Size : 042, 060. 090. 115. 142. 180. 220
IiEEL Ratio:
3 B%: 3, 4.5, 7.10. 20 1 Stage: 3. 4. 5. 7. 10. 20
M4k 15, 20, 25, 35. 40. 50. 70. 100 2 Stage: 15. 20. 25, 35. 40. 50. 70. 100
140, 200 140, 200
S Lh kA Shaft Option:
4 | 1) skt 1) 81:Smooth Output Shaft
2) S2: i 2) S2:Qutput Shaft With Key
HhR: Backlash:
5 1) P1:EEEE 1) P1:Reduced Backlash
2) P2: RSB 2) P2:Standard Backlash
RS Moto Designation:
6 |misEmrne Manufacturer Type And Model

~f5l Example:

WCPH-AB0980-010-S1-P1/SIEMENS 1FT6 041-4AF71

www.eisele—gear.com

01



Eisele

Antriebstechnik

WCPH-ABIREH It sE & #
B8 -3

BRREH
GEARBOX PERFORMANCE

MWBW* | AR042 | ABOGO  |ABOSO  |ABL15 | AB142 ABI80 | AB220
3 20 55 | 130 208 340 | 588 1140
4 19 | 48 140 270 560 1,100 | 1,700
5 22 | 60 | 160 330 650 1,200 | 2.000
7 19 50 140 300 550 | 1,100 | 1.800
10 14 | 60 160 325 650 1,200 | 2.000
20 - | a0 100 230 450 900 | 1,500
20 19 | - - - - - -
EDHHE Ton Nm 25 2 | 60 | 160 330 650 | 1,200 | 2,000
35 19 | 50 140 300 550 | 1,100 | 1,800
40 19 48 130 270 560 | 1,100 | 1,700
2 50 22 60 160 330 650 | 1,200 | 2,000
70 19 50 140 300 550 | 1,100 | 1,800
100 14 | 40 100 230 450 900 | 1,500
140 | 140 300 550 1,100 | 1,800
200 - |- 100 230 450 900 | 1,500
SFNE Taom® Nm 1,2 4~200 ITEBL B
EEWMNEE Ny Pm 1,2 | 4~200| 5,000 | 5,000 | 4,000 | 4,000 | 3,000 | 3,000 | 2,000
BAPARE N rpm 1,2 | 4~200 | 10,000 | 10,000 | 8,000 | 8,000 6,000 | 6,000 | 4,000
1 4~20 - - | <2 <2 <2 <2 <2
HIE N, aremn | 5 | 25~200 <4 <4 <4 <4 <4
—— _—y 1 4~20 <4 <4 <4 <4 <4 <4 <4
2 25~200 <7 <7 <7 <7 <7 <7 <7
= . 1 4~20 <6 | <6 <6 <6 <6 =<6 <6
AR aemt ™2 |25-200] <o | =o | <o | =o | =o | =9 | =0
BRI Nmamcmin| 1,2 | 4~200 7 | 13 31 82 151 | 440 | 1,006
BAZHNEMa Nm 1,2 4~200| 425 | 125 235 430 1,300 3,064 5,900
TR F o N 1,2 | 4~200| 990 | 1,050 | 2,850 | 2,990 | 10,590 | 16,660 | 29,430
wave° hr 1,2 | 4~200 30,000+
1 4~20 =95%
L) -
SN b 2 | 25~200 >92%
= % 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9 85.4
2 |[25~200| 1.4 1.9 4.5 9.8 20.1 45.4 85.9
SEAR °C 1,2 4~200 -10°C~90°C
a8 SRS
Br3Q 1,2 | 4~200 IP65
E2 500 1.2 | 4~200 ERAn B
BENF000mm =10 FRF) | dB(A) | 1,2 | 4~200| <61 <63 <65 | <68 <70 572 <74
8 PR | aERIL" [AB042 | ADOGO [ADOSO  |AD115  |AD142  [ADISO  |AD220
4~10 | 0.09 035 | 225 6.84 | 234 68.9 | 1354
14 0.07 1.87 6.25 | 21.8 65.6 | 119.8
20 0.07 1.87 6.25 21.8 65.6 | 119.8
HNER ), kg - cm’
20 0.09
25~100 | 0.09 0.09 0.35 2.25 6.84 23.4 68.9
2
140~200 0.31 1.87 6.25 21.8 65.6

A SE L (G=Nnl Nout )

BIg A4t JIET28= 60% of T 2Nor

c. ks
D. 4z
B A4

i

SI0ORPMI ¢, 3545 F 146ty 0o B
A A58 T 10000/
FEIL10 CHD SHBLI00 G HA3000 on b AR S T

www.eisele—gear.com

02



WCPH-AB

EX]

SERIES

SMRERST
DIMENSIONS

WCPH-ABRFIRY (8715, BiEL i=3~20)

Le7

L2

L8

L3

#04 h7

L4

$D3 ho

WCPH-ABERFIR T —k HEEL Ratio i=3720

28, 110]
BC3 E7
P05 67
1 L6y L5
A : =%
L7

(g4 mm]

R~ WCPH-AB-042-L1 | WCPH-AB-060-L1 | WCPH-AB—090-L1 | WCPH-AB-115-L1 | WCPH-AB-142-L1 | WCPH-AB-180-L1 | WCPH-AB-220-L1
D1 50 70 100 130 165 215 250
D2 3.4 5.5 T 9 11 13 17

D3 hé 13 16 22 32 40 55 79

D4 h7 35 50 80 110 130 160 180
D5 M4x0. 7P M5x0. 8P M8x1. 25P Mi2x1. 75P M16x2P M20x2. 5P M20x2. 5P
L1 42 60 90 115 142 180 220

L2 26 37 48 65 97 105 138

L3 3.0 7 10 12 15 20 30

L4 4 6 8 10 12 15 20

L3 14 22 28 40 65 70 90

L6 2.5 3 4 5 h 6 7

L7 10 15 19 28 36 42 42

L8 62 86 130.5 137.5 170 118 236
cr* 46 70 90 145 200 200 235
c2? M4 10/12 tief | M4 10/12 tief | Mb 12/14 tief | M8 22/25 tief |M12 20/23 tief |M12 27/30 tief |M12 27/30 tief
C3* F7 8 14 19 22 35 42 55
c4’ 26 33 42.5 64 82 85 120
C5* 67 30 50 70 110 114.3 114. 3 200
ceg* 4 5 6.5 10 8 7 i1

c7? 42 60 90 130 180 180 220
cg? 90. 5 107.5 132 193 23 303.5 378.5
Bl H9 3 5 6 10 12 16 20

H1 15 18 24.5 35 43 59 795

C1-CBRAMFRME SRR Z Rt REMEAL, RARE. 5T S EESELESRM T .

www.eisele—gear.com

03



Eisele

Antriebstechnik

SMRERST
DIMENSIONS

WCPH-ABRIIR (W15, RUELL i=15~200)

oGz

L2 LB
L3
s
T —O.aD
= T——r L_¥ - N
-+ - N
[=]
8 | | T o
- =
A | |
L4 7:} ‘
52
BC3| E7
@C5 G7
@81 _H?
' L LS
/’T ‘A
AN = .
e
N A
o
@D5 L7
D03 hd

WCPH-ABZRFIR~T —4% ®iEEL Ratio i=157200

(g4 mm]

Rl WCPH-AB-042-L2 | WCPH-AB-060-L2 | WCPH-AB-090-L2 | WCPH-AB-115-L2 | WCPH-AB-142-L2 | WCPH-AB-180-L2 | WCPH-AB-220-L2
DI 50 70 100 130 165 215 250
D2 3.4 5.5 fi 9 11 13 17
D3 h6 13 16 22 32 40 55 75
D4 hi 25 50 80 110 130 160 180
D5 M4x0. 7P M5x0. 8P M8x1. 25P M12x1. 75P M16x2P M20x2. 5P M20x2. 5P
L1 42 60 90 114 142 180 220

L2 26 37 48 65 97 105 138
L3 5.5 7 10 12 15 20 30

L4 4 6 8 10 12 15 20

L5 14 22 28 40 65 70 a0
L6 3 =5 4 5 5 6 7

L7 10 15 19 28 36 42 42
L8 85.5 115 130.5 167.3 202. 5 322 293
61" 46 70 20 145 200 200 200
co® M4 10/12 tief | M4 10/12 tief | M5 12/14 tief | M§ 22/25 tief |M12 20/23 tief |M12 27/30 tief |M12 27/30 tief
C3* F7 8 14 19 22 35 42 35
c4® 26 33 42.5 59 81 85 85
C5* GT 30 50 70 110 114.3 114.3 114.3
c6* 4 5 6.5 11 10 15 7
cr 42 60 90 130 180 180 180
cg* 90.5 117 132 177.5 223.5 249 323.5
Bl HO 5 5 6 10 12 16 20
H1 15 18 24,5 35 43 59 79.5

C1-CBRAMFRME SRR Z Rt REMEAL, RARE. 5T S EESELESRM T .

www.eisele—gear.com

04



Antriebstechnik

CPH_FE RANWNESHBEITE BRI
SERIES HIGH PRECISION PLANETARY GEARBOX

B ERR (AN BRAE
EISELE ASIA CO.,LTD



CPH' FE ?gglEs

CPH-FE &Z%5IB!E#ifH / CPH-FE SERIES MODEL ILLUMINATE

CPH-FE -090 -

010 - P1 / B4l MOTOR

b 6 b e

6

B4 4, 5.7, 10
Wek: 20. 25. 35. 40, 50. 70. 100

Na i BH Comments
1 CPH-FE: RERRIIRS CPH-FE: code for gear units series
2 MAZ: 047. 064. 090. 110. 140. 200. 255 Size : 047. 064. 090. 110. 140. 200. 255
AR : Ratio:
1 Stage: 4. 5. 7. 10

2 Stage: 20. 25. 35. 40. 50. 70, 100

4

18
1) P1:EEER
2) P2 dRESR

Backlash:
1) P1:Reduced Backlash
2) P2:Standard Backlash

BEAHLES:
| BHHER RS

Moto Designation:
Manufacturer Type And Model

7<f5 Example: CPH-FE-090-010-P1/SIEMENS 1FT6 041-4AF71

www._eisele—gear.com

01



Eisele

Antriebstechnik

BREY

GEARBOX PERFORMANCE

CPH-FEJFEMNIEA S / CPH-FE GEARBOX PERFORMANCE

A
#4& Model No. B¥Stage | FEHRatio |[FE04T | FE064 IFEOSD FE110 | FE140 | FE200 | FE255
4 19 48 | 130 270 560 1100 | 1700
4 5 22 60 | 160 330 650 1200 | 2000
7 19 50 | 140 300 550 1100 | 1800
10 14 40 | 100 230 450 900 1500
20 19 48 130 270 560 1100 | 1700
TR LS Ty Rim . . il
Nominal Output Torque T,y 25 22 60 160 | 330 650 1200 | 2000
35 19 50 | 140 300 550 1100 | 1800
2 40 17 48 | 130 270 560 1100 1700
50 22 60 | 160 330 650 1200 | 2000
70 19 50 | 140 300 550 1100 | 1800
100 14 40 | 100 230 450 900 1500
B
Ef’é%gﬁc?"gfop Torque Nm 112 4~100 3fEEEMLHIAZE 3 times of Nominal Output Torque
AR, ) [ |
R R it 0d 1, rpm 1/2 | 4-100 | 5000 | 5000 \ 4000 | 4000 | 3000 | 3000 | 2000
e rpm 1/2 | 4~100 | 10000 | 10000 \l 8000 | 8000 | 6000 | 6000 | 4000
(
HERRP1 1 4~10 <3 3 | <3 <3 <3 <3 <3
Reduced Backlash P1 arcmin — | - Y (—
2 20~100 | s5 <5 <5 <5 <5 <5 <5
P2 _ 1 4~10 <5 <5 N <5 =5 <5 <5 <5
Standard Backlash P2 aemIn '
2 20~100 | <7 < | =7 <7 <7 <7 <7
mEEAE Nmfaremin| 1/2 | 4~100 | 7 13 | 31 82 151 440 | 1006
Torsional Rigidity 1
BAGEE Mo Nm 1/2 | 4~100 | 425 125 235 430 | 1300 | 3064 | 5800
Max. Bending moment M ¢
RIS S FarS =
Max. Axial Load Fycl N 1/2 | 4~100 | 990 1050 l 2850 | 2990 | 10590 | 16660 | 29430
&5 1 4-10 | 07 12 | 30 56 119 | 316 | 561
: kg 1
Yeeignt 2 | 20-100| 10 16 | 87 73 | 159 | 369 | 704
I8 S E(n,=3000rpm,i=10, % 51 2) _ '
Nl (1, 300t (10, Ho e, OBA) 1/2 | 4~100 | <56 <58 | <60 <63 <65 SBT <70
EA%HH" N
T hr 112 | 4~100 370000
e ) 1 4~10 297%
Efficiency n %o
2 20~100 >94%
ERERE . _ o
Operating Temp C 1/2 | 4~100 -10°C~90°C
e &RiIRHAE Synthetic lubrication oils
Lubrication
PHiFER -
Degree of Gearbox Protection 12 d=1an | i
LR G | B
Mounting Position | 1/2 4~100 fE&E7AE All directions
www.eisele—gear.com 02



BREY

c P H - F E fgglE s GEARBOX PERFORMANCE

CPH-FEJREMN A S / CPH-FE GEARBOX PERFORMANCE

HIE Mode! No. [ SMiStage [@iEtRatio| FE047 |FE064 | FE oguJ FE110| FE140| FE200 |FE 255

| 4 003 | 0.4 051 | 287 754 | 2503 | 58.3f

5 003 | 0.3 047 | 2.71 742 | 2329 | 5327

! 7 003 | 0.13 0.45 2,62 714 | 2248 | 5097

10 003 | 013 0.44 257 | 7.03 | 2251 | 50.56

L kgcm? 20 003 | 003 043 | 047 2.71 742 | 2329
iR Morsnisiefbrarii 25 003 | 003 0.13 047 | 271 742 | 2329
35 003 | 003 0.13 0.47 2.71 742 | 2329

2 40 003 | 003 013 | 044 257 | 7.03 | 2251

50 0.03 0.03 013 | 0.4 2.57 7.03 | 2251

70 003 | 003 013 | 044 | 257 | 7.03 | 2251

100 | 003 | 003 | 013 | 044 | 257 | 7.03 | 2251

A mﬁl’t ( i=Nin/ Nout)

B. BAHNEHEE Toe = 60% of Tanor

C. ¥ FE100 rpmit, fERA TP OAE.
D. B FESHMERENELEFARAMEER

E. ¥4zt (£ &M 10000 hrs (H&5104 48

A. Ratio ( i=Ni / Noy)

B. Max. acceleration torque Tog = 60% of Tonor

C. Applied to the output shaft center at 100 rpm

D. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at 3000 rpm without load.
By ratio smaller than 10, the noise value would be 3-5dB higher

E. For continuous operation,the service life time is less than 10000 hrs

www.eisele—gear.com — 03



Eisele

Antriebstechnik

SR
DIMENSIONS

CPH-FERZFZR~ (B, RELL i=4~10)

og¢7

CPHFED47-FE255

CPH-FERFIR~t —Z% REUELE Ratio i=4710

(4]
L4 L&
~
= L3 L7
[ e}
g_ LS
2z
2N |
~ I (
_..__ﬁﬁ_ : O B o
™~ ~ r~ o & =
5 o ol 2 4 & = o 8 g
o 5 2§ g s 3 _lu K
= b @1 ?
=
1
I Seall
| _._,.\
1
- 2 = | [
FEEZ TR B 180 9409 a a
. ¥ iS!
Flange Dimensions oD
according ta 1S0D 9409 L2 0-Ring G4

R CPH-FE-047-L1 CPH-FE-064-L1 | CPH-FE-090-L1 | CPH-FE-110-L1 | CPH-FE-140-L1 | CPH-FE-200-L1 | CPH-FE-255-L1
D1 HT 12 20 31.5 40 30 80 100

D2 20 31.5 o0 63 80 125 140

D3 h7 28 40 63 80 100 160 180

D4 hv 47 64 20 110 140 200 255

D5 G7 79 109 133 168 233 280

D6 4 x M3x 0.5P 7 x M5x0. 8P 7 x M6 x 1P 11 = M6 x 1P |11 x M8 x 1.25F|11 x MI10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 143 179 247 300

D8 HT 2 b G G 8 10 12

D9 h7 60 70 95 120 152 212 255

D10 46, 2 63.2 89.2 109. 2 139, 2 199, 2 254, 2

D11 Bx®3, 4 8x®4. 5 8xM3.5 8x™5.5 12x®6. 6 12x®9 16x13. 5
L1 4 8 12 12 12 16 20

L2 6.5 8 13.5 13.5 17 22.5 30. 5

L3 3 3 6 G 6 8 12

L4 19. 5 19.5 30 29 38 50 66

L5 7 7 10 10 14. 6 15 20

L6 4 4 T 8 10 12 18

L7 5 T 8 10 12 15 20

L& 4 6 T i K4 10 10

1" | 46 70 90 143 200 200 235

c2" M4 10/12 Tief | M4 10/12 Tief | M5 14/17 Tief | MB 20/22 Tief |M1Z 28/30 Tief [M12 28/30 Tief |M12 28/30 Tief
C3" F7 3 14 19 22 35 35 42

c4* 30 34 42 64 81.5 86 116

€5 G7 3 50 70 110 114. 3 114.3 200

c6* 1.5 h 6.5 10 8 6 6

cr? 48 60 80 130 180 180 220

C8* 70 81.5 104 133 72 199. 5 2566.5

an A6x2 B66x2 2053 110x3 145x3 200x5 238x5

L CO1-CBRRARIRHED AR B 2 KT, ARBEI. A PR HFEH EISELESRM I .

www.eisele—gear.com

[Z8fiz: mm]




Eisele

Antriebstechnik

SR

CPH-FERFIR~ (73,

oc7

DIMENSIONS
AT .
IR i=20~100)
G8
L4 L&
£ 13 L7
g L5
=
2 BT
L‘ Lg
==
o B Wi wl o s
=~ w < o = B 4 = ™
3 § é 3 & \'% = L1 L= 4 QE 3
7 | *
I
| ==
| \
| o = 6
A
HEEmMRTER 150 9409 ‘ .
Flange Dimensions l L2 L ap | SE—=— G4 [ﬁﬁ mm]
according to 180 2409 0-Ring

CPHFED47-FE255

CPH-FERFIR~F —K BREE Ratio i=207100

R~ CPH-FE-047-L2 CPH-FE-064-L2 | CPH-FE-080-L2 | CPH-FE-110-L2 | CPH-FE-140-L2 | CPH-FE-200-L2 | CPH-FE-255-12
D1 A7 12 20 3.5 40 50 30 100

D2 20 31.5 50 63 30 125 140

D3 h7 28 40 63 80 100 160 180

D4 h7 47 64 90 110 140 200 258

D5 67 79 109 135 168 233 280

D6 4 x M3x 0.5P 7 x M5x0. 8P T = M6 x 1P 11 x M6 x 1P |11 x M8 x 1.25P[11 x M10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300

D8 H7 3 5 6 i 8 10 12

D9 h7 60 70 95 120 152 212 255

D10 46.2 63.2 89.2 109. 2 139.2 199. 2 254, 2

D11 8x®3. 4 x4, 5 8xWM5. 5 8x®d5. 5 12xd6. 6 12x®9 16x®13.5
L1 4 8 12 12 12 16 20

L2 6.5 8 3.5 13..5 17 22.5 30.5

L3 3 3 6 6 6 8 12

L4 19.5 19.5 30 29 a8 20 66

L5 7 T 10 10 14,6 15 20

L6 4 4 T 8 10 12 18

L7 5 Tad 3 10 12 15 20

L8 4 3] 7 7 7 10 10

c1* 46 70 90 145 200 200 235

c2® M4 10/12 Tief | M4 10/12 Tief | M5 14/17 Tief | M8 20/22 Tief |MI12 28/30 Tief |M12 28/30 Tief |M12 28/30 Tief
C3* F7 8 14 19 22 3b 35 42

c4? 30 34 42 64 81.5 86 116

C5* G7 3 50 70 110 114.3 114. 3 200

ce* 3.5 3 6.5 10 8 6 6

G 43 GO 80 130 180 180 22

cg* 97.5 115.5 134.5 167 223.5 257,95 311.5

0D 56x2 66x2 90x3 110x3 145x3 200x5 238x5

L. C1-C8R AR Ik > Rt AREDEHL. RARE. P45 %8 BISELESRM T) .
www.eisele—gear.com

05



SR
DIMENSIONS

Antriebstechnik

9 H# R~ Output Dimensions

FE 047

1xD8 7
/ _1@D2

FE 140 / FE200

1xD8 H7
[ oD2

xD8rr

I'E064 / 'E090

FE 255

1xD8 Hr

/

(#{iunit: mm)

FR3fDimension | FE047 FEO064 FE090 FE110 FE140 FE200 FE255
D147 12 20 315 40 50 80 100
D2 20 315 50 63 80 125 140
D37 28 40 63 80 100 160 180
D47 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 M3x05P | M5x0.8P M6 x 1P MEx1P | MBx1.25P | M1I0x15P | M16x2P
D8 vz 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 5.5 6.6 9 13.5

www.eisele—gear.com 06




Antriebstechnik

WCPH_FE RIS BEEITE RZEN
SERIES HIGH PRECISION PLANETARY GEARBOX

B ERR (AN BRAE
EISELE ASIA CO.,LTD



Wc P H - F E ’S%EFI'I\I’IES

WCPH-FE &%I& 28 / WCPH-FE SERIES MODEL ILLUMINATE

WCPH-FE -090 -

010 - S1 - P1 / E#l MOTOR

T T R

No iR BA Comments
1 WCPH-FE: iEZBZHIIRE WCPH-FE: code for gear units series
2 #i%: 042. 060. 090. 115. 142. 180. 220 Size : 042, 060. 090. 115. 142. 180. 220
IiEEL Ratio:
3 B%: 3, 4.5, 7.10. 20 1 Stage: 3. 4. 5. 7. 10. 20
M4k 15, 20, 25, 35. 40. 50. 70. 100 2 Stage: 15. 20. 25, 35. 40. 50. 70. 100
140, 200 140, 200
S Lh kA Shaft Option:
4 | 1) skt 1) 81:Smooth Output Shaft
2) S2: i 2) S2:Qutput Shaft With Key
HhR: Backlash:
5 1) P1:EEEE 1) P1:Reduced Backlash
2) P2: RSB 2) P2:Standard Backlash
RS Moto Designation:
6 |misEmrne Manufacturer Type And Model

~f5l Example:

WCPH-FE 090-010-S1-P1/SIEMENS 1FT6 041-4AF71

www.eisele—gear.com

01



Eisele

Antriebstechnik

BREY
GEARBOX PERFORMANCE

WCPH-FEIREHLIE REZT R

W2lt”* | AD047 | ADOG4 | AD090 | AD110 | AD140 | AD200 | AD255
4 19 48 130 270 560 1,100 | 1,700
5 22 60 160 | 330 | 650 1,200 | 2,000
7 19 50 140 | 300 550 1,100 | 1,800
10 14 60 160 | 325 650 1,200 | 2,000
14 42 140 300 550 1,100 | 1,800
20 - 40 100 | 230 450 900 1,500
20 19 - - - - - -
RIS Toy Nm 25 22 60 160 | 330 650 1,200 | 2,000
35 19 50 140 300 550 1,100 | 1,800
40 19 48 130 270 560 1,100 | 1,700
2 50 22 60 160 a30 650 1,200 | 2,000
70 19 50 140 | 300 550 1,100 | 1,800
100 14 40 100 | 230 450 900 1,500
140 140 300 550 1,100 | 1,800
200 - - 100 230 450 Q00 1,500
SFINE Toor” Nm 1,2 4~200 3EmEEE
EEMANEE Ny pm 1,2 4~200 | 5,000 | 5,000 | 4,000 4,000 3,000 | 3,000 2,000
BAHNGE pm 1,2 4~200 | 10,000 | 10,000 | 8,000 | 8,000 6,000 | 6,000 | 4,000
1 4~20 - = <2 <2 =2 <2 =2
AP emn | 5 | 25~200 <4 | <4 <4 <4 <4
1 4~20 <4 <4 =4 <4 <4 <4 <4
BEWE P1 i
aemin | 5 | 25~200| <7 <7 <7 <7 <7 <7 <7
1 4~20 =6 =6 <6 =B =6 =6 =<6
arcmi
e "2 T25~200] =<9 <9 <9 | <9 <9 <9 <9
i3 [Nmfarcmin| 1,2 4~200 | 7 13 | 31 | 82 151 | 440 | 1,008
BASHE M Nm 1,2 4~200 | 42.5 125 235 | 430 1,300 | 3,064 | 5,900
BRI F o’ N 1,2 4~200 | 990 1,050 | 2,850 | 2,990 | 10,590 | 16,660 | 29,430
fEmEa" hr 1,2 4~200 30,000x
1 4~20 >95%
L7
ol % 2 25~200 =92% _
e ki 1 4~20 1.1 2.1 5.9 10.5 21.9 50.9 85.4
2 25~200 | 1.4 1.9 4.5 9.8 20.1 454 85.9
RS °C 1,2 4~200 -10°C~90°C
pein =t n = il
Lepigss )] 1,2 4~200 IP65
RESH 1,2 4~200 s vail
MSE(n=3000pmi=10EME) | ¢B(A) | 1.2 | 4~200 | =61 <63 | <65 | <68 | <70 | =72 <74
s TW | WiBl* | AD04T | ADOB4 | AD090 | AD110 | AD140 | AD200 | AD255
4~10 0.09 0.35 2.25 6.84 23.4 68.9 | 1354
14 0.07 1.87 6.25 21.8 65.6 | 119.8
20 0.07 1.87 6.25 21.8 656 | 119.8
IR ), kg * cm®
20 0.09
25~100 | 0.09 0.09 0.35 2.25 6.84 23.4 68.9
2
140~200 0.31 1.87 6.25 21.8 65.6

AL L (i-Nnl Nout )

T10ORPMIF fi,  F54% F 4 L2 4 b £ 3
A d{lT10000-h0

A EEL0 (YD SuEELE100 CAUT) FEIEA3000 | po HE SRR T4

www.eisele—gear.com — 02



WCPH-FE

og7

SMERY

E3T)
SERIES DIMENSIONS
e AY = -
WCPH-FERFIR (875, FEL i=4~20)
G9
L4 L7
Lé
L3
&
2 L5—
= -
~ ~ N / /
g 8 é = é 8 3 Jar 7
] 2
i
==k, I | |
2 | i
FZERTHRIE IS0 9409 . ! @ |
Flange Dimensions = oD
according to 150 9409 =1 0-Ring @C3[E
CPHFEQ47-FE255 . 3 5 [&6z:mm]

WCPH-FERFIR T —& iREL Ratio i=4720

Rt WCPH-FE-047-L1 | WCPH-FE-064-L1 | WCPH-FE-090-L1 | WCPH-FE-110-L1 | WCPH-FE-140-L1 | WCPH-FE-200-L1 | WCPH-FE-235-L1
D1 HY 12 20 31.5 40 50 80 100

D2 20 3.3 50 63 80 125 140

D3 h7 28 40 63 80 100 160 180

D4 h7 47 64 90 110 140 200 255

D5 67 79 109 133 168 233 280

D6 4 x M3x 0.5P 7 x Mox0. 8P 7 x M6 x 1P 11 x M6 x 1P (11 x M8 x 1.2bP|11 x M10 x 1,5P| 12 x M16 x 2P
D7 2 86 118 145 179 247 300

D8 H7 3 5 6 6 8 10 12

D% 8xMh3. 4 8xM4.5 8xM5. 5 8xM5. 5 12xD6. 6 12x¢P9 16x13. 5
D10 46,2 63.2 89,2 109.2 139.2 199, 2 254, 2

L1 4 8 12 12 12 16 20

L2 6.5 3 13.5 13.5 17 22.5 30,5

L3 3 3 6 ] 6 8 12

L4 19.5 19.5 30 29 a8 50 66

L5 i 1 10 10 14.6 15 20

L6 4 4 T 8 10 12 18

L7 83.5 63.5 84 101.3 129 244.5 302

L8 4 ] 7 1 7 10 10

1 46 70 90 144 200 200 235

(o M4 10/12 Tief | M4 10/12 Tief | M5 14/17 Tief | M8 20/22 Tief |M12 28/30 Tief |M12 28/30 Tief |M12 28/30 Tief
C3" F7 8 14 19 22 15 35 42

c4* 30 34 42 64 Bl.5 86 116

C5° G7 3 50 70 110 114.3 114.3 200

c6* 3.5 5 6.5 10 8 6 6

(o 48 60 80 130 180 180 220

cs* T4 17.5 96 135.5 160 213.5 268.5

9 107.5 119 166 203.5 274.5 334.5 392

aD 56x2 66x2 90x3 110x3 145x3 200x5 238x5

C1-CBRAMFRME SRR Z Rt REMEAL, RARE. 5T S EESELESRM T .

www.eisele—gear.com

03



Eisele

SMERY

Antriebstechnik DIMENSIONS
WCPH-FERFIRT (XT3, itk i=25~200)
6o
L4 L7
L6
L3
E L5
oG? é
28
[} g
@y = ]
\\ : J 'f g E ;D; ? | ] ] |
H s %288 siiﬁL\w“ | ‘
/ 5 U
1 # ! || [ . 8
Sy é ‘ o ,@
Bc2 HEERTRIRIS0 9409 |
Flange Dimensions = o Lo
rT s g T R | g3 [ £7:mm)]
@205 67
WCPH-FERFIR T Z4% AIRELL Ratio i=257200
R+ WCPH-FE-047-L2 | WCPH-FE-064-L2 | WCPH-FE-090-L2 | WCPH-FE-110-L2 | WCPH-FE-140-L2 | WCPH-FE-200-L2 | WCPH-FE-255-L2
D1 HY 12 20 31. 8 40 30 80 100
D2 20 31. 5 50 63 80 125 140
D3 h7 28 40 63 80 100 160 180
D4 h7 47 64 90 110 140 200 255
D5 67 79 109 I35 168 233 280
D6 4 x M3x 0.5P 7 x M5x0. 8P T x M6 x 1P 11 x M6 x 1P |11 x M8 x 1.25P|11 x M10 x 1.5P| 12 x M16 x 2P
D7 72 86 118 145 179 247 300
D8 H7 3 5 6 6 8 10 12
D9 8x43. 4 8xdr 4, 5 8x®b5. 5 8xd 5. 5 12xd 6.6 12z 9 16x9*13.5
D10 46. 2 63.2 89.2 109. 2 139.2 199. 2 254. 2
L1 4 8 12 2 12 16 20
LZ 6.5 8 13. 6 13.5 iy 22,8 30, 5
L3 3 3 6 6 6 8 12
L4 19.5 19.5 30 29 28 50 66
L5 T 7 10 10 14.6 15 20
L6 - - 7 8 10 12 18
L7 83.5 65. 5 84 101. 5 129 244. 5 302
L8 4 [} T 7 7 10 10
c1* 46 70 a0 145 200 200 235
c2® M4 10/12 Tief | M4 10/12 Tief | M5 14/17 Tief | M8 20/22 Tief [M12 28/30 Tief |M12 28/30 Tief |M12 28/30 Tief
C3* F7 8 14 19 22 35 35 42
c4* 30 34 42 64 81.5 86 116
C5* G7 3 50 70 110 114. 3 114.3 200
ce* 3.5 3 6.5 10 8 6 6
c7* 48 60 80 130 180 180 220
cs® 74 T7. 5 87 120 120 189.5 213.5
cg? 122 148 175.5 233.5 233.5 333.8 403
0D 56x2 66x2 90x3 110x3 145x3 200x5 238x5

Cl-CBR AR L B RR 2 Rk, FREIMEN, RPARE. #ARRG $HEISELES M L .

www.eisele—gear.com

04



SMERY

Eisele DIMENSIONS

Antriebstechnik

HWHEMRT

CPH-FE-047

CPH-FE-110
WCPH-FE-110

CPH-FE-064/CPH-FE-090
WCPH-FE-064,/WCPH-FE-090

WCPH-FE-047

@D5
B D4y i
8xD10_ [/

i

54 @D1H7

CPH-FE-255
WCPH-FE-255

CPH-FE-140/CPH-FE-200
WCPH-FE-140,/WCPI-FE-200

A2D10

034

@ans /2.

16010 [

[B{5Z: mm]
CPH-FE-047 CPH-FE-064 CPH-FE~090 CPH-FE-110 | CPH-FE-140 CPH-FE-200 CPH-FE-255
R WCPH-FE-047 | WCPH-FE-064 WCPH-FE-090 | WCPH-FE-110 | WCPH-FE-140 WCPH-FE-200 | WCPH-FE-255
D1 w7 12 20 31.5 40 50 80 100
D2 20 315 50 63 80 125 140
D3k 28 40 63 80 100 160 180
D4 nr 47 64 90 110 140 200 255
D5 67 79 109 135 168 233 280
D6 M3 x 0.5P M5 x 0.8P M6 x 1P M6 x 1P M8x1.25P | M10x1.5P M16 x 2P
D8 3 5 6 6 8 10 12
D10 3.4 4.5 5.5 5.5 6.6 9 13.5
www.eisele—gear.com 04




ERAEH, mREEEFIEZL, BU~mAE, BARHITEN.
Data of product and catalogue could be different due to the technology update,please refer to
the actual product.Without prior notice!

www.eisele—gear.com



	00封面
	01
	02
	03
	04
	05
	06
	07
	08
	09
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24



